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SECTION A: Catering college
Answer all questions in this section. o
O cuk
Write your answers in the spaces provided. cz> S E,
S Sen
= vol
Mick is starting a course at college. = - E
S S
= Z
In the first week he will go to college every day from Monday to Friday. e Sap
Mick has a total of £12 to spend on lunch in this week. = E
e |
He wants to spend £2.35 each day on lunch. % E
> 2
(a) Can Mick afford to spend £2.35 on lunch each day in this week? 5!; ‘8
2) SRy
Use the box below to show clearly how you get your answer.
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Mick needs to get to college on time.
He needs to plan what time to get up.
Mick will get a bus from Oxton to College bus stop.
Here is part of the bus timetable.
Stone 0706 0732 0800 0845
Oxton 0722 0748 0815 0901
Redworth 0739 0805 0833 0916
College bus stop 0801 0827 0855 0929
Mick needs to get to College bus stop by 9am.
He allows
% of an hour to get up and get ready to leave the house
10 minutes to walk from his house to the bus stop at Oxton.
Mick thinks the latest time he can get up in the morning is 7:15am.
(b) Is Mick correct?
Show why you think this. (4)
Use the box below to show clearly how you get your answer.
( )
g J
(Total for Question 1 is 6 marks)
J
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2 Mick completes a total of 5 assessments for his course.

He gets these marks. e

:::Q'.: lé

56 42 47 59 48 z =

. 9 u

Mick needs an average mark of 50 or more to pass the course. o ol

SRS K

5 =

Does Mick pass the course? S e

Show a check of your working. (4) e g

E c

Use the box below to show clearly how you get your answer. ':';‘ g

SIS SO

( A :igfi B
- J

Use the box below to show your check.

( )

& J

(Total for Question 2 is 4 marks)
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3 Mick makes cheese flan in the college restaurant.

He knows that one cheese flan is enough for 8 people.
Each cheese flan contains 5 eggs.

Mick is making cheese flan for 80 people.
He needs to know how many eggs to use.

Mick thinks he needs to use 45 eggs.

(@) Is Mick correct?
Show why you think this.

(3)

Use the box below to show clearly how you get your answer.

s

J
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~
Mick asks some customers who eat in the restaurant to fill in this questionnaire.
Tick (v') one answer for each question. 8' 5
-
1. What did you think of your meal? Ezgl :‘,»
Poor OK Good =§U E
S oF
moow
2K =
e S
2. What did you think of the service? % ' 5
Poor oK Good 2 =2
im Q
p - 3% o
3. What did you think of the value for money?
Poor OK Good
SR S
o 9“& 0092008
Mick needs to record the answers from the customers on a data summary sheet. 5 \
sy S
(b) Design a data summary sheet for Mick. Ex W
(3) e S
= o
Tjig\ \\
R
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Use the box below to show your data summary sheet.
4 )
N\ J
(Total for Question 3 is 6 marks)
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SECTION B: Holiday in Pula
Answer all questions in this section.
Write your answers in the spaces provided.

4 Olga manages a tour company in Pula.
She needs to plan a walk for the company.

Olga has this sketch of different places in Pula.

arch

1.6 km Diagram not
accurately drawn

1.2 km

walk around
the Old Town

church

Olga will start and end the walk at the hotel.
She wants the walk to be no more than 6 km in distance.

Olga wants the walk to include

e avisit to the church
e avisit to the arch
o the walk around the Old Town.

Plan a walk for Olga.
Show the total distance of the walk.

Use the box below to show clearly how you get your answer.

(Total for Question 4 is 4 marks)
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4 “
5 The tour company offers different tours.
Olga has this information about the number of people who booked on each tour
last year.
tour Walking Da}[/ril% oat Egg?it?i?o Cable car Lake
“';':::I’:f 5500 3000 2400 4500 2600
Olga wants to show this information in a graph or chart.
(a) Draw a suitable graph or chart for Olga.
(3)
Use the grid below to draw your graph or chart.
\. J
9
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Last year, the company had 18000 bookings in total.
5400 of these bookings were for boat trips.

Olga says

% of all our bookings last year were for boat trips.

(b) Is Olga correct?
Show a check of your working. (3)

Use the box below to show clearly how you get your answer.
4 )

& J

Use the box below to show your check.

( N

& J

(Total for Question 5 is 6 marks)
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6 Winston and Karen are going on holiday to Pula.
o < They want to book a double room in a hotel.
=} e The hotel must be less than 1 mile from the city centre.
Z <
3 % They want to spend as little money as possible.
= =
g Z They find this information.
i
Z = hotel tvpe of room distance from cost of room
i_:i E P city centre for one night
WX
::; <z> Grand Hotel double 0.9 miles £193
Q
= Q Beach Hotel double 1.2 miles £ 95
Palace Hotel twin 0.6 miles £149
Club Hotel double 0.8 miles £160
Royal Hotel twin 1.6 miles £169
o 2 Mountain Hotel double 0.7 miles £169
)
g g (@) Which hotel should Winston and Karen book?
= e
o 2
< e Use the box below to show clearly how you get your answer.
e S ( )
s
(@]
=<
O
Qa
”8 <
o) oA
= =
= o
= ~
= =
2 =
3 =
S
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w0
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In the hotel Winston and Karen see this offer.

Walking Tour

Normal price
250 Croatian Kuna
Book today save 15%

V

(b) Work out 15% of 250

(2)
Use the box below to show clearly how you get your answer.
4 )
g J
(Total for Question 6 is 3 marks)
12
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7 Winston wants to go on a boat trip.
He sees these offers for a half day boat trip.
e <
2O u
» % : Offer A Offer B
: g T ) .
s = Boat trip Boat trip
5 £ ,
IRk i £26.50 230 Croatian Kuna
: 5:' =
B 5 Winston knows this rule to convert from Croatian Kuna to £.
= Z
i a Price in
Croatian > X 3 > +25 > Pricein £
Kuna
/ v Winston wants to know which offer is cheaper.
: E Which offer is cheaper?
St (3)
oy
: ; Use the box below to show clearly how you get your answer.
E ( A
o
o)
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(Total for Question 7 is 3 marks)
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SECTION C: Hot tub
Answer all questions in this section. o <
o [31]
Write your answers in the spaces provided. cz> S::
: n
= vol
8 Mr Smith wants to buy a hot tub. = E
=
= =
There are two options to pay for the hot tub. o o
- =
2 =
4 =
Hot tub & 15
b it 2
Option 1 cash price £5000 = o
= ]
Option 2 pay 20% of the cash price now
and pay £183.80 each month for 2 years
Mr Smith uses option 2
How much extra will Mr Smith pay in total using option 2 instead of option 1? 8 :fj
(5) z =
-* % E
Use the box below to show clearly how you get your answers. :;,E,.;; I'Z'
:EE;:§ \§
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(Total for Question 8 is 5 marks)
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9 Mr Smith wants to build a platform for the hot tub in the garden.

The platform
« needs arectangular space 5m by 3m
« must be at least 2m from the back of the house
« must be at least 1 m from all the edging.

Mr Smith draws a plan of the garden on a grid.

(a) Draw the space for the platform on the grid.

(3)

shed

Key 1 square on the grid is 50cm by 50cm in the garden
edging

back of
house
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Mr Smith draws a sketch of the platform.
< 5 m »
A = .
Diagram not
3m accurately drawn
v
Mr Smith wants to put border fencing around the edge of the platform.
He can buy border fencing in lengths of 200 cm.
Mr Smith can cut and join the lengths of border fencing.
He thinks he needs 7 lengths of border fencing.
(b) Is Mr Smith correct?
Show why you think this. (4)
Use the box below to show clearly how you get your answer.
( )
- J
J
17
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Mr Smith wants to fill the empty hot tub with water.
He will use 1350 litres of water.

Mr Smith fills up the hot tub with 18 litres of water every minute.

(c) How long will it take to fill the hot tub with 1350 litres of water?
Show a check of your working. (3)

Use the box below to show clearly how you get your answer.
4 N

& J

Use the box below to show your check.

e a

N J

(Total for Question 9 is 10 marks)
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10 Mr Smith looks at the thermometer in his garden.

il PR FEETE FEET PR SRS ST FTEES FEE|

Y

[

Write down the temperature shown on the thermometer.

(1
Use the box below to show your answer.
4 )
\ J

(Total for Question 10 is 1 mark)

TOTAL FOR PAPER IS 48 MARKS
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